N = Ol & A

20128 2014t JIEtEESAH &l (&2l &)
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SEE
ES A 47,717,954 19,275,701 28,442,253 147 .55%
ALY 36,405,009 9,356, 168 27,048,841 289.10%
Hees 11,232,355 9,836,012 1,396,343 14.20%
HE2AFZHI 80,590 83,521 A2,931 AN3.51%
HEES 12,378,997 6,843,276 5,535,721 80.89%
Aot - =2 8,008,997 6,043,276 1,965,721 32.53%
FTAINLEEH 23 14,973 7,249 7,724 106.55%
=EINEEEIH 2SS (=EMHLEESSA) 14,973 7,249 7,724 106.55%
Not=SEZ2H 2 592,700 0 592,700 100.00%
Xot+=SEE3H2L (Xot=SE3lH) 592,700 0 592,700 100.00%
WRES(BIFEAUY) 7,401,324 6,036,027 1,365,297 22.62%
HWEHHXS(EMHLESSA) 7,401,324 6,036,027 1,365,297 22.62%
HOI2 4,370,000 800,000 3,570,000 446 .25%
HIISHM2IAEAMBSESH 2 4,370,000 800,000 3,570,000 446 .25%
HOISMelAEMEELSH 2L (HIISH 4,370,000 800,000 3,570,000 446 .25%
ANEALESSH)
NEEIE=PN 3,610,890 3,463,438 147,452 4.26%
I=eed 57,000 52,000 5,000 9.62%
HRES (A= X1 57,000 52,000 5,000 9.62%
BEXE(2=0HIIELEESSIA) 57,000 52,000 5,000 9.62%
FAHS K2 3,553,890 3,411,438 142,452 4.18%
A=2SHIISEESE =24 3,553,890 3,411,438 142,452 4.18%
ASZNHIISELELEINH 2 (AE520II=2 3,553,890 3,411,438 142,452 4.18%
THEZESA)
+=EHUE 25,854,200 0 25,854,200 100.00%
SANEE 25,854,200 0 25,854,200 100.00%
SAEEZAMY SE3H 2 25,854,200 0 25,854,200 100.00%
SANEEMY SE83H 2S(SAEMLEE 25,854,200 0 25,854,200 100.00%
31
SELX SN 5,793,277 8,885,466 A3,092,189 A34.80%
NEEEN 5,793,277 8,885,466 N3,092,189  A34.80%
JIBAEEESH =2 497,105 442,413 54,692 12.36%
JIStAIEEE 3 2 (JIELAIEEE3I) 497,105 442,413 54,692 12.36%
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65,975 48,588 17,387 35.78%




=0t 28 Ol &b oA HEE Off AFSH s .
IIBAI L R HRASES|H 2 (I BHAl 65,975 48,588 17,387 35.78%
FASHS )

SYNLANLSELSH 2 385,739 1,391,646 A1,005,907|  A72.28%
SHMNLANLSLEZH RS (SEML ALY 385,739 1,391,646 A1,005,907|  AT72.28%
31

SSNAZLANLSEEH 29 996,600 3,183,600 A2,187,000  A68.70%
SENUIPZLHANLSEIH 2 (sSXP2ES 996,600 3,183,600 A2,187,000  A68.70%
AN ELEIH )

FTEHALSHIHRY 73,827 71,234 2,593 3.64%
TEANLSHI NG (FHALS S H) 73,827 71,234 2,593 3.64%
RS = (S AIHED) 90,000 102,500 A12,500]  A12.20%
SEINEODIBALSEEH) 70,000 70,000 0 0.00%
BENEOISALRYRASHH|) 20,000 12,500 7,500 60.00%

p/=Ign[y) 3,684,031 3,645,485 38,546 1.06%
S(SYMUALSHEH) 3,000,000 1,600,000 1,400,000 87.50%
E(BYMLAILSEEH) 184,031 192,485 8,454 A4 3%%
E(S2XPEHAILSLEIH) 500,000 0 500,000 100.00%
80,590 83,521 A2,931 A3.51%

80,590 83,521 A2,931 A3.51%

| (AF2] =X D) 80,590 83,521 A2,931 A3.51%
ABSHIIZEHSESN) 80,590 83,521 A2,931 A3.51%




